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6H29H (%)
RNBSEBLAEI ST K (BYSIK)

FiEY —DO R

AJIv D N2 = EHSES B | 5. | km |Gk=| B
1 B 3-2 0-5 3 3 7 -4 3
2 X 2-3 2-1 3 4 4 0 2
3 FERAR 5-0 1-2 3 6 2 4 1
B D i) T Al BIFT B | 5. | km |Gk=| B
1 lukiiy) 2-1 2-1 6 4 2 2 1
2 [azpzz il 1-2 1-1 1 2 3 -1 3
3 BIPR 1-2 1-1 1 2 3 -1 2
ConOv7o I N K T& B | Bm | km |Gk=| B
1 ERIF 7-1 2-1 6 9 2 7 1
2 AKX 1-7 1-2 0 2 9 -7 3
3 T&5 1-2 2-1 3 3 3 0 2
DY Hra p NI IR Bl | bR | R | ak=| Tah
1 e 4-1 1-1 4 5 2 3 2
2 AN 1-4 0-7 0 1 11 -10 3
3 K4 1-1 7-0 4 8 1 7 1




